ol 4

=1} Phép céng 2 chit s6
Tén: Ngay thang: Piém:____
40 74 38 53 99
+35 +14 +20 +44 +59
35 81 66 44 39
+31 +19 +33 +32 +61
57 41 51 32 20
+72 +44 +33 +24 +27
/70 56 28 15 12
+38 +90 +82 +65 +10
31 58 /2 24 97
+30 +53 +14 +72 +99
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?% ﬁ g@_[ Phép céng 2 chit s6
Tén:__ Ngay thang: Diém:___
40 74 88 53 99
+35 +14 +20 +44 +59
/5 38 108 97 158
35 81 66 44 89
31 419 433 43 46l
66 100 99 76 150
57 41 51 32 20
72 w4 433 424 4y
129 85 84 56 47
/0 56 28 15 12
38 90 +82  +65  +10
108 146 110 80 22
81 58 72 24 97
+30 +53 +14 +72 +99
111 111 36 96 196
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